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Instructions : (1) Attempt any two questions from Section-1.

1.  (A) Define Cost Accounting and explain its advantages.

(2) Section-2 is compulsory.

Section — 1

(B) Explain the elements of cost.

2. (A) From the following information of Jyoti Ltd. Find out :
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(1) Economic order quantity

(2)  Ordering level
(3) Maximum level
(4) Minimum level
(5) Safety level
Annual consumption
Cost price per unit
Ordering cost per order
Carrying cost

Lead Time :
Maximum

Minimum

Daily consumption :

Maximum

Minimum

12,000 units
%5

%60

20%

30 Days
10 Days

300 units

100 units

[Max. Marks : 50
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10

10
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(B) From the following information of Sodam Ltd., prepare stock register for Raw

material "M”. 10
Date Particulars | Units | Cost per unit Method of
€9 valuation
01-12-2020 | Op. Bal. 900 4.00
06-12-2020 | Purchase 1,800 6.00
13-12-2020 | Issue 1,500 - LIFO
15-12-2020 | Purchase 2,100 6.00
21-12-2020 | Issue 2,400 - FIFO
26-12-2020 | Purchase 900 8.00
30-12-2020 | Issue 300 - Weighted
Average
3. (A) From the following information of Ravi Ltd., Calculate : 10

(1) Time wages
(2) Piece wages
(3) Wages as per Halsey premium plan
(4) Wages as per Rowan premium plan
(5) Effective wage rate per hour as per Halsey plan
Time allowed 100 hours
Time taken 80 hours
Wage rate per hour < 20
(B) From the following information of Ronik Limited, calculate labour turnover rate
on the basis of : 10
(1) Separation method
(2) New appointment (replacement) method
(3) Flux method
(4) Equivalent Annual Turnover Rate as per Separation method
(5) Equivalent Annual Turnover Rate as per Replacement method

Number of workers on dated 01-12-2020 900
Number of workers on dated 31-12-2020 1,100
Number of workers left during Dec. 2020 50

Number of workers appointed during Dec.2020 250
(of which 100 workers were appointed under expansion plan)
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4.  Ronak Ltd., has three production departments A, B, C and two service departments

X and Y. The following information are available for the year ended on 31-03-2020. 20

Overhead Expenses

(1) Rent and rates % 60,000

(2) Insurance of machines 324,000

(3) Canteen expenses 325,000

(4) Stores overhead 3 48,000

(5) Lighting expenses % 15,000

(6) Indirect wages 355,000

(7) Depreciation on machinery < 1,20,000

(8) Power T 84,000

(9) Contribution to ESI 312,000

Other Information:

Particulars A B C X Y

Area occupied (sq. 5,000 3,000 2,000 1,000 1,000
feet)
Value of machines (%) | 4,00,000 | 3,00,000 | 3,00,000 | 1,00,000 | 1,00,000
No. of workers 40 30 20 5 5
Direct materials 7,50,000 | 6,00,000 | 2,50,000 - -
No. of light points 25 20 15 10 5
Direct wages 4,50,000 | 2,50,000 | 2,00,000 | 50,000 50,000
H.P. of machines 6 4 2 1 1

Prepare a statement showing distribution of overhead among various departments.

Section — 2
5. Select correct answer. (any five) 10
(1)  Which of the following is a product cost ?

)

3)
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(a) Direct material

(¢) Salesmen’s commission

(b)
(d)

Which of the following is a period cost ?

(a) Canteen expenses

(¢) Salesmen’s commission

(b)
(d)

Interest on loan

Office rent

Direct material

Which of the following is not a costing method ?

(a) Batch costing
(c) Marginal costing

(b)
(d)
7

Job costing

Administrative staff salary

Contract costing
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(4)  Which of the following is a stock valuation method ?
(a) FIFO (b) LIFO
(c) Weighted average (d) All of the above
(5) Which of the following is most profitable quantity ?
(a) Economic order quantity (b) Minimum quantity
(c) Average quantity (d) Maximum quantity

(6) In which of the following methods goods remain in the closing stock from last
purchases ?

(a) LIFO (b) FIFO
(c) Weighted average (d)  All of the above
(7)  Which of the following is a bonus as per Halsey premium plan ?
(a) 50% of time wages (b) 50% of time allowed
(¢) 50% of time saved (d) 50% of time taken
(8)  Which of the following method is not a individual incentive wage system ?
(a) Halsey plan (b) Taylor’s differential piece wage system
(c) Rowan plan (d) Time wages

(9) Which of the following method is group incentive wage system ?
(a) Profit sharing (b) Piece wage
(c) Rowan plan (d) Time wages
(10) Which of the following base is the base of allocating electricity expenses ?
(a) Horse power (b) No. of light points
(c) Direct wages (d) None of the above

(11) Which of the following method is used for segregation of semi variable
overheads ?

(a) Simultaneous equation method
(b) Trial and error method
(¢) High and low point method
(d) None of the above
(12) Which of the following is the base of allocating canteen expenses ?
(a) Direct material (b) Indirect material

(c) Indirect wages (d) None of the above
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